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Time : 90 Minutes

PART -1 : MENTAL ABILITY TEST
(For Student of Class VIII)
Max. Marks : 90

INSTRUCTIONS TO CANDIDATES

Read the following instruction carefully before you open
the question booklet.

{8

h

10.

Answers are to be given on the same OMR answer
sheet.

There are 90 questions in this booklet. All are
compulsory.

Choose the correct answer from the options given
for each question and darken the corresponding
circle with black ball point pen in the OMR answer
sheet.

Since the time allotted for this question paper is very
limited you should make the best use of it by not
spending too much time on any one question.

If you do not know the answer to any question, do
not waste time on it and pass on to the next one. If
time permits, you can come back to the questions,
which you have left in the first instance and attempt
them.

Rough work can be done anywhere in the question
booklet but not in the OMR sheet / loose paper.

Each correct answer will be awarded one Mark.

Please return the OMR Answer sheet only to the
invigilator after the test. You can retain the question
Booklets.

English version of the question paper will be
considered as final in case of any dispute arising out
of variation in translated version.

Quote your seven digit Roll number without fail-for
any future correspondence.

PLEASE TURN OVER THE PAGE AND START
ANSWERING

o
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aulflpemm (@fleur sTenar. 01—15)
(SlsaT 611D GsmLigsfla
sT6uaTsmemT/6T(LpS WSS GG H&ESaID.

3. W50, 63 127

1)30 2) 31
3) 47 4) 52

625, 5, 125, 25,25 2,5
)5 - 725
3) 125 4) 625

117 44° q62. @
9 2 ST 3

1 1
1)8; 2)19-

3) 20 4)22§

AZ,BY, CX,DW, ?,FU
Hve 2)EV
3)ES 4) SE

B, EH L, ?

DM 2)Q
3O 4P
Al,B4,C9, ?
1) D25 2) D36
3) D16 4) D49
%
7 8 o
)22 2)23
3)3 4) 28

el L

Direction (Questions 1-15)
Find the missing number/alphabets
in the following sequence.

3, 1,15, %,63,127

1) 30 2) 31
3) 47 4) 52

625, 5,125,25,25 2,5

)5 2)25
3) 125 4) 625
115,120 44° 16>, 7
g 2 7 3
\ Y 1
)8 2)19:
3)20 4) 22

AZ, BY, CX, DW, 7, FU
1) VE 2)EV
3)ES 4) SE

B.CETHE 7

HM 2)Q

30 4) P
Al,B4,C9, ?

1) D25 2) D36

3) D16 ‘ 4) D49

.3 10 &5 7 3 ?}/BN
il 8 3

1) 22 2)23

3) 32 4) 28




8.

10.

11.

12.

13.

14.

388/3—2a

4yz 5\(2 GY %
12 21 ?

1) 24 2)20
3)22 4) 21

10 9 15
16@12 27@:1 24@23

26 25 18
1) 88 2) 80
3) 86 4) 74

7 A

MZog | 5502
1
i 2 13 E

I H
nMmM . )P
3)HQ 4)S
1,1, 16, 4, 25,5, 36,6, 7,11
1) 121 23112
3) 211 4) 111
11,13,17,19,7,.29
1) 21 223
3) 25 4) 27
4,5,7,10, b3y 16, 17, 2,22
1) 18. 2)19
3)20 . 4)21
1,1;3,29,2,8,4,?
1) 16 =225
3) 64 ' 4) 81
ABC, ZYX, DEF, -—-—-- , GHI
1) WVU ) TUV
3) UVW 4) VUT

11.

12.

13.

14.

15

5 26 4
7
\y;
5
12 21 ?
1) 24 2) 20
3)22 4)21
10 5 15
/
16@/12 2?@“ 24@23
26 25 18
1)88 2) 80
3) 86 4) 74
5 A
M2oe | s 0
SE
L2 S e
I H
HM 2P
3)Q 4)S

1,1, 16,4, 25,5, 36, 6, 2, 11

1) 121 2) 112

3) 211 4) 111

11, 13,17, 19, 2,29 .

1) 21 2) 23
3)25 4) 27
4,5,7,10,11,13, 16,17, 2,22
1)18 2) 19
3)20 4)21
1,1.8.27,2, 8,4, 2

1) 16 2) 25

3) 64 4) 81
ABC, ZYX, DEF, --—---- , GHI
1) WVU 2) TUV
3) UVW 4) VUT



auLfliyenm (aSlesrm eremar. 16—25)

Sipsemr eflerssafled © @ &@ (psor 26T
@l i Semssafln_Guw JEHa@ID @
Qamiiy 2 ererg)l. 968 eusms Gsm_mysmL W
QUM SSLOMEIT 6T EUITTT &6M &ML
QanE&&0UL(HSTaT HT6i (S Wrmm)
aflem_sefadlEg CoHiT6lsES s

16. Mango : Fruit : : Potato :
1) Root 2) Stem
3) Flower 4) Leaf

: : Aeroplane : ——
2) Astronaut
4) Air hostess

17. Train : Passenger
1) Aeronaut
3) Pilot

18. Good : Bad : : Roof:

1) Window 2) Floor
3) Walls 4) Pillars
19. Water : Ice :: Steam : ———---
1) Heat 2) Water
3) Boil 4) Fire
20. AE:GK: : MQ: ———-
1) VZ 2) SW
3)TX 4) UY
21, 37:50 = = —-:—-:82
181 2) 64
3)72 4) 65
22. 5:16::7: ——--
1)19 2)22
3)21 4) 20
23. B:4::D: ——--
9 2) 16
3)8 4) 64
388/3—1a

16.

17,

18.

19.

20.

21.

22.

23.

Direction : (Q.No.16 -25)
There is some relationship between
two given words/letters/numbers
before the : :. Find the other word
from the given alternatives having
the similar relationship.

Mango : Fruit : : Potato :

1) Root 2) Stem
3) Flower 4) Leaf
Train : Passenger : : Aeroplane : -—

1) Aeronaut
3) Pilot

Good : Bad : : Roof:

2) Astronaut
4) Air hostess

1) Window 2) Fleor

3) Walis 4) Pillars
Water : Ice :: Steam : ------
1) Heat 2) Water
3) Air 4) Fire

AE :GK: : MQ:

1) VZ 2) SW
3)TX 4)UY
37:50 : : ——-—-:82

1) 81 2) 64 -
3) 72 4) 65
5:16::7: ——--

1) 19 2)22
3) 21 4) 20
B:4::D: —--

1)9 2) 16
3)8 4) 64
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o —12:ii= 0 e
H
1)2 2513
23

3) i 4) 4
25; BCA : EFD: : HIG : -—

1) KJL 2)KLJ

3) JKL 4) JLK

suLflpemm (eSlsor eremer. 26—30)

&Gy Qar@ssiulL  aflamsssfla o srar
eLpsITm) I Seng&6ifleor Qgmm_rfer
SptusnLullsy lstGuTmSsLnTar LS5
(A,B,C,D upmid E ) milsen Qeflafaer
(655 AL QAT

O
©®©

A
[

26. Hours , Days, Months
1) A s 2)B
3)C 4HE

27. Women, Teachers, Doctors
1A 2)B
3 C 4HD

28. Reading material, Newspaper,
Magazines
DB 2)C

b 3)D 4) E

|

25.

26.

27.

28.

F X

=210 = e

C H'®

1)2 2)3
23

3l 4) 4
7

BCA : EFD : : HIG : ---

1) KJL 2) KLJ
3) JKL 4) JLK

Direction (Question Number 26-30)
Choose the one that best illustrates
the relationship among three given
classes in each of the questions, from
the five given diagrams A.B,C,D

and E.

clcloy
D @

Hours , Days, Months
1)A 2)B
3)C 4)E

Women, Teachers, Doctors
1)A 2B
3)HC 4D

Reading material, Newspaper,
Magazines

1)B 2)C

3D 4)E



34.

Food, Curd, Spoon
1A 2)B
3)D 4)C

Human, Dancers, Players
1)B 2)A
3)D 4)E

suLfilpemm (aflesrr T6tar. 31—-35)

Qar@ssiu @erer &S EUSEMET
GEUETTLIMTERL Ulg 581 SLp&HSTEILD
sl & e aflsnLwefléaa)ih.

WC&es, grdsmsu il o wiTeToT é%scrrrau
oflegiiemit el (GememomeTTaUT.  &insir,
afleiismiy il 2 wiyomemeurT DLET6 B]LO6TI
el (GememLomesTau.

&6 o wiTLomseTauT Wi ?

1) pCsein 2) siLnsar

3) oy 4) efleniis

Parsaflss o wyhiseflear  gueliuen ufs
@ aflosiie  Hhs omausgre
ETeTsTD @ Sdlsd fiueurt w2

1) eflegus 2) Yese

3) soer - 4) gredey)

o wirtsaflear oy lusnLulled  srmisufenauiled
Bnsmassnn , olmiiseE SHSSULWLTS
Bimues wm ?
1) &iLosar

3) yGasia

2) gy
4) efleoil

@aitasaflsy sad @srarorara wimt ?

1) 9o 2) sffleniis
3) &insor 4) yrsdeu

aflsgiienw il 2 wiplomsoreuTGET W ?
1) s wimih yGensiy

2) @(Saasﬁx LDﬁ)QjL'B GHiLD6HT

3) GL06T LMWL Lo

4) o mmID (pEaey

29.

30.

31.

353,

34.

Food, Curd, Spoon

1) A 2)B
3)D 4) C
Human, Dancers, Players
1)B 2)A
3)D 4 E

Directions (Question No. 31-35)
Read the following information
carefully and answer the questions
that follow.

Mukesh is taller than Rajeev but
shorter than Vijay. Suman is taller
than Vijay but shorter than Amar.

Who is the tallest?
1) Mukesh
3) Amar

2) Suman
4) Vijay

If all are asked to stand in descending
order according to the height, who
would be in the fourth place?

1) Vijay 2) Mukesh

3) Suman 4) Rajeev

In the ascending order of height, who
stands next to Vijay?

1) Suman 2) Amar

3) Mukesh 4) Vijay

Who is the shortest of all?
1) Amar 2) Vijay
3) Suman 4) Rajeev

Who are all taller than Vijay?

1) Rajeev and Mukesh
2) Mukesh and Suman
3) Suman and Amar
4) Amar and Mukesh



- 36.

- o

38.

39.

40.

sulflpsmm (eflearm sTevar. 36—40)
&6y Gem@&sUuu Hsrer UL s
QULLLD — Lilg&&6TSEMETLLLD
Qasinisd — QLIETTSMETILILD
(p&Camemarid — Gousmevuileh
2 6TaTeUT SEmeTILLD GnISS Mg
sTsofl60, Lfletraumid eflaTTs & EmE
eflsnL wefl&Sab.

L)

ueSgauiseflr  Qurss  assnllSms
TEURUETERY ?

1)6 2)15

3)21 4) 11

g 58 Qustarsserfletr erevaremflsoms.

1)8 : 2)6

3) 15 4) 13

ug 58 Geuensoullauisirer Gluisturgelsor
6T6UOT6TT 16561 8.

1) 10 2) 13

3) 14 4) 21

Gausmsvulleyieirer Lig 5&m8 Gluistor seflsar
6T6u0T6us 165 6m 5.

)22 2) 14

3) 24 4) 17

Gausmauiinm, GlLsTITEsT Zj06VTS

uip &G eutaeflsir Glomgs eTevrcmflsms.
1) 16 26

3)15 410

36.

37

38.

39.

40.

Direction (Question No. 36-40)

In the following diagram,

Circle indicates Educated people
Rectangle indicates Women
Triangle indicates Employed people
Study the diagram carefully and
answer the following.

How many people are educated in
all?

1)6 2plS
3)21 4)11
Number of educated women.
1)8 2)6
315 4)13

Educated employed women
1) 10 2)13
3) 14 4) 21

Women who are employed but not
educated.
22
3) 24

2) 14
4)17

Total number of educated people who
are neither women nor employed.

1) 16 2)6

410

3) 15
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1 1021 ¢ [ TR 16x17 erermy  QUBHEGSHS
CarenauflsT QsTmrD Glossin :

14 2)5

3)0 4)8

GG peapuils. NAGPUR  etstruens
OBHQVS starés @flgsmer BENGALURU
6TEITLIENS, sTeUEUTN)] GMl&SSaTin ?

1) DGPICMVSV

2) CFOHBMVSV

3) DGPICNWTV

4) CFOHBMVTV

GOLD srettusng HOME  eteoreyin COME
sreTuens DONE  erammayid @missmss SONS
6TEITLIENS, 6TELEUTN)] (Sil&aeumLn ?

1) TTOT 2) TOOT
3) TOOS 4) TONT
SYSTEM eeiusns SYSMET  etamayid

NEARER eeirusns AENRER  erameyjd
@fissmee FRACTION ssirusng steueaumn)
@nssamn ?

1) NOITFRAC
3) CARFNOIT

2) CARFTION
4) FRACNOIT

EDUCATION emeorusmg NOITACUDE
ersorefln SOCIETY steotusms Y TEICOS
sl @olssmen WATER
sTeusUTm| Gnlsseuma ?

1) RETWA 2) REWTA
3) REATW 4) RETAW

ETITLIEDE

SALVAR sretusmg 123456 stemrayin SAINT

staTLemg 12789 siaTalld  GMISSTe
SALIVA stetTUsng; sTeLUTM (GMISS60mD ?

1) 127342 2) 127324

3) 123724 4) 123742

BID = 15 wimis FIG = 22 eraflsd
BIG/AS 2=
1) 20
3)22

2) 18
4) 24

41.

42.

44,

46.

47.

The unit digit in the product of

Lix 2Rk, o 16x17 is --——
1) 4 2)5
3)0 4)8

In a certain code, NAGPUR is coded
as OBHQYVS, then BENGALURU
will be coded as

1) DGPICMVSV

2) CFOHBMVSV
3) DGPICNWTV
4) CFOHBMVTV

If GOLD is coded as HOME and
COME is coded as DONE then SONS
can be coded as -------

1) TTOT 2) TOOT
3)TOOS 4) TONT

If SYSTEM is ceded as SYSMET and
NEARER is coded as AENRER then
FRACTION can be coded as -----

1) NOITFRAC
3) CARFNOIT

2) CARFTION
4) FRACNOIT

If EDUCATION is coded as
NOITACUDE and SOCIETY is coded
as YTEICOS then WATER can be

1) RETWA
3) REATW

2) REWTA
4) REFAW

If SALVAR is coded 123456 and
SAINT is coded as 12789, then
SALIVA will be coded as

1) 127342 2) 127324

3) 123724 4) 123742

If BID = 15, FIG = 22 then

BlE— =2
1) 20 2) 18
3)22 4) 24




48.

49.

50.

32,

10

ZEBRA gretruemng  1-22:25-9-26  stemayth
WOLF sererusns 4-12-15-21 STEUTGLLD
&fisemd  RABBIT esitusng  etsusumm
GM&ase0mb ?

1) 9-26-25-25-18-7
2) 18-1-2-2-9-21
3) 18-1-2-25-18-7
4) 9-26-2-2-18-7

auflypsnm (afler eTevr. 49-52)

A, B, C, D, E upmib F sreirm aymy Cuii 2_sirer
GMIuS S @\revor(p) &\(mLoeworLO6TT
S\DLISG6T 2 _sTameari

i) A eetrusur B—str Logsetr

if) D stetrueui A—sir um’ig wmmuh B-eir g,mu
iii) F ersirueui E—eir Gus&)

iv) B sresrueur A wommith F gy SGuimflstr gmis

35 GOULUSSD THSMET oy FHT HLITSET
2 _6iTemeuTii ?

1)1 2)3

3)S. 4)4

C stetruaur, A -&@ sreuausmaulss 2 may?

1) shens 2) gmiy

3) sCamsmT 4) urtlg
SLpseuurLauiseflsy &)(T5L06TITLOT 68T 6T 61T
wimr ?

1) BE 2)CD

3) AB 4) BC

&1P& UL eumnflh Seummenr s My 618 2
) A erssrusui F—sir Gangifl

2) F stetrueui A—sir Gamraifl

3) E sretrusur B—eir giong

4) B searusui F—eor smil

48.

50.

51.

S22

If ZEBRA is coded as 1-22-25-9-26,
WOLF is coded as 4-12-15-21, then
RABBIT is coded as ~-----

1) 9-26-25-25-18-7
2) 18-1-2-2-9221
3) 18-1-2-25-18-7
4) 9-26-2-2-18-7

Direction(Question No. 49-52)

In a family of six persons A, B, C, D,
E and F, there are two married
couples. |

i) A is the son of B

it) D is the grandmother of A and the
mother of B

iii) F is the granddaughter of E

iv) B is the mother of A and F

How many male members are there
in the family?

1)1 2)3

3)5 4) 4

How is C related to A?

1) Father 2) Mother 1
3) Brother 4) Grand mother |
Who among the following is married?
1) BE 2)CD

3) AB 4) BC

‘Which of the following is not true?

1) A is sister of F
2) F is sister of A
3) E is father of B
4) B is mother of F




3.

54.

58.

auflpenm (ailsrm eretar. 53—57)

QsrE&sIu HsTear 5660861 ls0T
SligliLimi_uflsd S&GMIIL Beirsm
ofler & Ema G aflenL wefl&aeyL.

+ 6T6OTLIG| — STEUTELD

— ETEUTLIG] X 6TEUTELLD

X 6TGITLIG) + 6TEUTRLD

+ 6TGITLIG;) + STEOTELLD

Toreirugy ¥ erswreyin Glasmeor_msv,

(100-2+60+4) T

1) 12 2) 40
3)20 4) 6
1225 x 1510 = --——

1) 215 2) 10
3)11 4) 20

10+ 10— 10x 10 + 10 = -
1)0 2) 1
3)10 4) 50

30 x5+ 2+ x=8, then the value of x s

1)4 gy
3)2 4) 16
(10x2-4+6+1 )T= ______
14 2)%;
3)5 41

e uwaflssr aLbg SHms Crrsdl
RermQs sty HESENTT.  &Hlg ST Henauilsd
45" Goremmin S Ner  SlesHMT
adidmels  180° GCarewnd S
Hidmmt srefled, ojaul SHGCUTS TSHEnFMILI
Crrédl Bipdmr 2

1) L Sp&S

2) Qe s

3) Q&6 GLnE)

4) au_Cung

53.

54.

B5:

7.

58.

Direction (Question No. 53-57)
Answer the following questions
using the given information
If + means —

- means X

X means +

+ means +

T means ¥, then

(100-2+60+4) T
1) 12 2) 40
3)20 4) 6
1225x 15-10'= -
1)215 2) 10
3) i1 - 4)20
10+ 1010 x 10 + 10 = -
10 2)1
3)10 4) 50
30 x5+ 2 + x =8, then the value of x
is ~—--mm-
1)4 2) 19
3)2 4) 16
(10x2-4+6+1)T =
1)4 2)1—31-
3)5 4) 1
A man is facing North and turns 45"

in the clockwise direction and then
180" in the anticlockwise direction
which direction is the facing now?

1) North -East
2) South-East

3) South-West
4) North-West




60.

61.

62.

Q@ 305 gmmd HysE Crréd hL_58i,
URGLSSHLTSES Smud 405 grmd mL kg,
Heir Blpdpri srerfled  sHGunsy TG 8

QLsfllpie o 155
Slemeuledlmumt ?

1) e dlpse 2) Ggsrdlys s

3) Qg Cons 4) auL_GumE

aIL&E CEréd BiEn e Qusir  spsy
e sy Hensufl 90° o, dlng
Sl &MY (T &ML Henad@ o Hemaufs
120° A@iudorsr safld, snGurs s
& Slsmaamiu Grrdd @)miumst ?

1) Glg6ir SlpsE 2) L&l
3) suL Gy 4) Qs6t1CLom (5
QG 388 oL se Crred mLia,

QL giusswrs Hmndl 2 Huf L S&mT.
wmugud @ Gumors  Sepodl  3E.E.
BL&SnM. 965 sowd aimmLwL RIS
ussns SHmmld 36 pLESnTT e
Sleui rnlss @O SHmHg sTeuasTay

Sl Agrensadsy @ meHmm 2
1) 565 2) 2 §146.
3) 3 SLf. 4) 1 SLf.

sulflpemm (efleor sredar. 62—66)
&6y  Gar@ssiL Hsrer

SHEURTLOTSL Lilg &
oflernéa e aflolwsilésan.

fleuriissnea
Slstraunin

) A, B, C, D, E womud F srétrm aymy Gurt
suflemedE 3 Gui efs @ auflensuds
D|LONTHGI6TET6aTT.
i) D stearusui C~&g eypensuafll L stélymes
D|LDITTh G STEITIT.
iii) B sterueut E -&@ srdlyrs
DL Glsirerm
iv) E sterruisut A-&@ih C-&@id Glsmufled
I|L0IThGI6 T
D wpmin C -§ safily epmesil’ L srdiyre
|L0fiTh e (LILISUIT S6TT Wi ?
B, C 2)AF
3)E,D 4)A,D

59.

60.

61.

62.

A man walked 30m towards East,
took a right turn and walked 40m. At
which direction is he from the
starting point?
1) North-East

3) South-West

2) South-East
4) North-West

A girl is facing North, first turns 90°
in the clockwise direction and then
120" in the anticlockwise direction.
Which direction is she facing now?

) South-East
3) North-West

2) North-East
4) South-West

A man walks a distance of 3kms
towards North, then turns to his left |
and walks for 2 kms. He again turns |
left and walks for 3kms. At this point
he turns to his right and walks for
3 kms. At what distance is he from
the starting point?
1) Skm

3)3 km

2) 2 km
4) 1 km

Direction (Question No.62-66)

Read the following information
carefully and answer the questions
given below.

i) Six persons A, B, C, D, E and F are
sitting in two rows three in each.

ii) D is diagonally oppesite to C

iii) B is opposite to E

iv) E is sitting between A and C

Which of the following are sitting
diagonally opposite to each, other
than D and C?
1)B,C
3)E,D

2)AF
4)A,D




C-& Cmi erdlyms @) @mUueut wmi ?

HA 2)E

3)F 4)D

Gan®  aflmesaily gGamin 66T
aurflemaufles oLofTEgleTeTauiassT Wit ?

1) AEC 2) DBC

3) FEC 3) AEB

LSl6aT 611 (T AT EUM AT i a0y
aurflensulledlmiusrser ?

1) D ummgn F 2) B ummin E

3) D mmrs A 4) F upmin C

B upmin E @Qpamh shisast @QLSms
wrpiles  Ceramirsd E -&5@ susgiymib
2 _eremeu Wi ?
A

3)D

2) C
4)F

40 Gur Glereir g su@Llilsh refl sTerLiat
shsmr ol 7 @G risst {rank) (erengre
2 erenm. SeoLHleliphg 17eug Gl S8

213 V(7 (T DR TR
STHSMATILITEIE @l SH0 Glmuur ?

1) 16 2)17

3)18 4) 24

100 @psed 1000 esusmywjeTer  sTenorgarlsy,
USSTIL S50 1 aS5marT (pem a2
1)9 2) 10

3) 90 4) 900

Symidle ger auflmslivly aiflasiL@ss)s.

a) Remove_ b) Revive c¢) Refer
d) Reflex  e) Remarks

1) cdeab 2) cedab

3) dceab 4) cdaeb

63.

64.

65.

66.

67.

68.

Who is facing C ?
DA
3)F

2)E
4) D

Which of the following are in one of
the two rows?
1) AEC
3) FEC

2) DBC
3) AEB

Which of the following are in same
row?

I)yDand F
3)Dand A

2)Band E
4)F and C

If B and E are interchanging their
positions, who is the right of E?

NnA 2)C

3)D 4) F

Ravi is 7 ranks ahead of Sundar in a
class of 40. If Sundar’s rank is 17
from the last, what is Ravi’s rank
from the first?
1) 16
3)18

2517
4) 24

In the numbers 100 to 1000, how
many times digit 1 comes at the ten’s
place?
1)9
3)90

2) 10
4) 900

Arrange the words in alphabetical
order.

a) Remove b) Revive c¢) Refer
d) Reflex e) Remarks

1) cdeab 2) cedab

3) dceab 4) cdaeb




auflpenm (afleorm erevor.70 & 71) Direction {Question No. 70&71)
Garssiul L QU S6m 5/ 6Tetar &61f 160 Find the odd one out
Caumu L ms CambsH&san.

70. Play, run, walk, think, write 70. Play, run, walk, think, write
1) Write 2) Play 1) Write 2) Play
3) Run 4) Think 3) Run 4) Think

. 19,.39,59, 79,89 71. 19,:39,.59, 79,89
1) 19 2) 39 1) 19 2) 39
3) 79 4) 89 3)79 4) 89
auflpsmm (aflearm evetor. 72 & 73) Direction (Question No. 72 & 73)
@M useLuilar  eperm  GleusiGoumy Three different positicns of a die. X,
flewesst XY womin Z sylu (Hererer. Y and Z are given below. Answer the
ISt Ijigliviemt_ulsy LSletreu(mLD questions based upon these figures.

el &sEnsE ol waflésa)i.

RS Q8

{x) {y) z {xj ty) ()
72. ‘6’ -&(G GEil e1&lIs 2 aiTer 676w 618 ? 72. Which number lies opposite to 6?
11 2)2 1)1 2)2
3)3 4)5 3)3 4)5
73. X 6T6OTD Hlsmeouflsd useoLullssr  73. Which number lies at the bottom
eSS SHH60 D 616 6TowT 6T& 7 of the position ‘X’?
1)3 2)4 1)3 2)4
3)2 496 3)2 4) 6
74. UL S&leviTer W&Gamemmsaflst 74, How many triangles are there in the
6T6BOT 6uU{ 1665 figure?
/ﬁ?\
/ >
1) 6 2)9 1)6 2)9
3)8 4)7 3)8 47
75. 2*3 =35  oreorepn, 3*4=91 ereoTeyLD 75. If 2*3 =35 and 3*4=91, then 4*5=?
GlsmetorL_meo 4*5 =? 1) 189 2) 41
1) 189 2) 41 3) 61 4) 200

3) 61 4) 200




aufleny (aflem erefor. 76—81)

GarhssiuGerar uLhiseaflsr Ggm ifaneiusmLulls Q58 UL Smss setrGHiii.
Direction (Question No. 76-81) :

Identify the figure based on the continuation of the previous figures.
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82.

83.

84.

1

auflipsom (eSleorm sTetor. 82—86)

g6 @rsm® u_riseafler Ggm mimears s Mibs), 965 Oarilmer 90&s
@rsiT(h ULhSEhSGUL Cur@mghgionm o srer sflwurer uLSlsmer GarTHiSSIULL BTG,

Qaflasaflsfimig Corttls®&sa)n.
Direction (Question No. 82-86)

Based on the relationship between the first two figures, select the suitable figure

which corresponds to the third from the four alternatives given.
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auflpenm (efleorm eredar. 87—90)
&G Lar@saiulGsTer @eiGlaur L /o SmesEné @i sflumsr &6T0T 60T MMl
Hibugemg erGssiu’ L srang Qafasals @ wmhs Coikas@ssai.
Direction (Question No. 87-90)
In each of the following, choose the correct mirror image amongst the four
alternatives.
+
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[ @] [@] *[®][S]
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